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import hashlib

if name_ == "__main__":
md5 = hashlib.md5()
md5.update('This is a sentence.')

I\/I D5/S HAl md5.update('This is a second sentence.’)
print u' AHES, ZTMHEEE”: 7, md5.digest()

print u'mMp5:', md5.hexdigest()

md5 = hashlib.md5()

mdS.update('This is a sentence.This is a second sentence.’)
print u'MD5:"', md5.hexdigest()

print md5.digest size, md5.block size

print "---------mmm -

shal = hashlib.shal()

shal.update('This is a sentence.’)
shal.update('This is a second sentence.’)

print u' AHEHS, EAHRECETL”: *, shal.digest()
print u'sHA1:", shal.hexdigest()

shal = hashlib.shal()

shal.update('This is a sentence.This is a second sentence.')
print u'sSHA1:", shal.hexdigest()

print shal.digest size, shal.block size

print ‘=======z=z========z======"

5.1.hashlib
+ FHEES, XEE YELER” . +€ 1 QUL €k )$€q
4+ MD5: 2bfeld491651554c05996b1629248571
% MD5: 2bfel4491651554c05996b1629248571
& 16 64
IEI
m

THESM, EEE “ELR” . €€JHe9a 1999 16

4k o o g A SHAL: 99a74a48d5fb611a6525962ba3d51131ch3ald2
BEXMFT AT LS ETnE S
SHAL: 99a74a48d5fb611a6525962ba3d51131ch3ald2e
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MD5

MD5(Message Digest Algorithm), 4 4. 4% &

ek, At ARk g A -k

Sl gk, ALABMEHLGREHRET

B x#%RFC 1321(R.Rivest,MIT Laboratory for
Computer Science and RSA Data Security Inc.
April 1992)

A FAEELEGEL, 232MDSKE &, %7

¥ B #A128bittg 45 %

;ijgi'a'*&FE
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1

MD5RYHEZSE

Lirm

st F K E ASL2biteg 45 B, T it 4 32,

1% 7| £ & A 128biteg 45 &

#7145 1L 18 &
0123456789ABCDEFFEDCBA9876543210

B A=0x01234567 B=0x89ABCDEF

B C=0xFEDCBA98 D=0x76543210

WA T 16, REAKE A12{z614 4.,

¥ hin4s 45 &

nnnnnnnnnnnn

BB AT S E T E 6/47 mllléi—'?ff's



MD5HY = NI %

# L ¥ ¥a,b,cd, 2%+2%AB,CD,;
#512biteg 12 A.4= 1832bit— 48, 4,164 ;
2~%| 12 A M, (05j<15);

WA EHS, t, 2L HEK
FF(a,b,c,d,M;,s,t,)=(a+F(b,c,d)+M;+t,)<<s
Al AM 25 #1753 AR, #4-F4F %7
B otd, FXY,2D)=(X&Y)|(~-X&2)
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MD5H) = AT iR

it L1668 T, abcd®A TM e 4
2 bt odbix 6T R(446716:£=64%)
4% 2644 F %5, #ab,cdR%4AB,CD
i, RATHI2bitfZ A6 a; #TT—
MN512bit4z B. ¢4 4a B £ 1&
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N*512 bit

¥

L bit 0~511 hit
| '[?ﬁﬁ { it )

7]
v

MD5#%

100...00

HE

—7_

HEIEE (Lmod 284

\

512bit  512bit 512 bit
‘e +—p ‘e
Yrv-s

Y Y
%512 %512 % 512

i f £ 8 5
WEEE B 128bit B 4HRiS = N1 A =}
A 128bit {H 128hit B
o147 [ a5
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MD5S4RE & &

LAY, TLEEZAMFAHITHA, #4
K B #4512 K 409 4 % % FT448,

MEGF k4T, LEALGEGAZ—-N]
fo e FAN0, AF|ER LBGEMH. %5,

B XNk RS & WA — U644 = 4 K T
0 &4 12 A £ & Length,

gt mbgadr, RHBELLKEA
N*512+448+64=(N+1)*512, 8k & ¥4F &
51245 ¥ #. 42,
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MDSHIZHE & 3k

L NI A M B
B OE(X Y, 2)=(X&Y)(<X)&2Z)  H(X, Y, Z)=XAYAZ
B G(X, Y, 2)=(X&2)|(Y&(~2))  I(X,Y.Z)=YNX|(~2))

Mk & 54 ¢ £)4~F 2a(05<I5, #HRLkF) ¥
—fitkﬁZ?)Z*abS(Sin(k)) ] ﬁ,ﬁ;%p o, 1<k<64, $4£ 2 35
B o

FF(a,b,c,d,M;s,t)=(a+F(b,c,d)+M+t,)<<s
GG(a,b,c,d,M;s,t)=(b+G(b,c,d)+M+t,)<<s
HH(a,b,c,d,M;,s,t)=(b+H(b,c,d)+M+t,)<<s
l1(a,b,c,d,M;,s,t)=(b+(b,c,d)+ M+t )<<s

B AT SRS TS 11/47 &5



F % E=%

FF (a, b, ¢, d, MO, 7, 0xd76aa478) HH(a, b, c, d, M5, 4, 0xfffa3942)
FF(d, a, b, c, M1, 12, 0xe8c7b756) HH (d, a,b,c,MS,ll,OxST?lfﬁSl)
FF(c, d, a, b, M2, 17, 0x242070db) HH(c, d, a, b, M11, 16, 0x6d9d6122)
N/ 42 FF (b, c, d, a, M3, 22, Oxclbdceee) HH (b, c. d, a, M14, 23, 0xfde5380c)
/ A ;I% FF (a, b, ¢, d, M4, 7, 0xf57c0faf) HH(a, b, c, d, M1, 4, Oxadbeeadd)
FF (d, a, b, c, M5, 12, 0x4787c62a) HH(d, a, b, ¢, M4, 11, Ox4bdecfa9)
FF(c, d, a, b, M6, 17, 0xa8304613) HH(c, d, a, b, M7, 16, 0xf6bb4b60)
FF (b, c, d, a, M7, 22, 0xfd469501) HH (b, c, d, a, M10, 23, Oxbebfbc70)
FF (a, b, c, d, M8, 7, 0x698093d8) HH(a, b, c, d, M13, 4, 0x289b7ec6)
FF (d, a, b, ¢, M9, 12, 0x8b44f7af) HH(d, a, b, ¢, MO, 11, Oxeaal27fa)
FF(c, d, a, b, M10, 17, Oxffff5bb1) HH(c, d, a, b, M3, 16, 0xd4ef3085)
FF (b, c, d, a, M11, 22, 0x895cd7be) HH (b, c, d, a, M6, 23, 0x04881d05)
FF(a, b, ¢, d, M12, 7, 0x6b901122) HH(a, b, c, d, M9, 4, 0xd9d4d039)
FF(d, a, b, ¢, M13, 12, 0xfd987193) HH(d, a, b, ¢, M12, 11, Oxe6db99e5)
FF (c, d, a, b, M14, 17, 0xa679438e) HH(c, d, a, b, M15, 16, 0x1fa27cf8)
FF (b, c, d, a, M15, 22, 0x49b40821) HH (b, c, d, a, M2, 23, Oxc4ac5665)
=% i
GG(a, b, ¢, d, M1, 5, 0xf6122562) II (a, b, c, d, MO, 6, 0xf4292244)
GG(d, a, b, c, M6, 9, 0xc040b340) Il (4, a, b, ¢, M7, lO 0x432aff97)
GG(e, d, a, b, M11, 14, 0x265ebab1) Il (e, d, a, b, M14, 15, 0xah9423a7)
GG (b, c, d, a, MO, 20, 0xe9bBc7aa) II (b, c.d a M5, 21, 0xfc93a039)
GG (a, b, ¢, d, M5, 5, 0xd62f105d) Il (a b, c d M2, 6 0x655b59¢3)
GG(d, a, b, c, M10, 9, 0x02441453) Il (d, a, b, ¢, M3, 10, 0x8f0ccc92)
GG(c, d, a, b, M15, 14, 0xd8aleB81) I (¢, d, a, b, M10, 15, Oxffeff47d)
GG (b, c, d, a, M4, 20, Oxe7d3fbc8) Il (b, c,d a, M, 21, 0x85845dd1)
GG (a, b, ¢, d, M9, 5, 0x21elcdeb) Il (a b, c d, M8, 6, 0x6fa87edf)
GG(d, a, b, c, M14, 9, 0xc33707d6) Il (d. a b, c. M15, 10, 0xfe2ce6e0)
GG(c, d, a, b, M3, 14, 0xf4d50d87) II (c, d, a, b, M6, 15, 0253014314)
GG (b, c, d, a, M8, 20, 0x455al4ed) I (b, c d a, M3, 21, 0x4e0811al)
GG(a, b, c, d, M13, 5, 0xa9e3e905) Il (a, b, c, d, M4, 6, 0xf7037889)
GG(d, a, b, c,M2, 9, 0xfcefa3f8) I (d. a. b, c. M11, 10, 0xbd3af235)
GG(c, d, a, b, M7, 14, 0x676£02d9) Il (c. d, a, b, M2, 15, 0x2ad7d2bb)
GG (b, c, d, a, M12, 20, 0x8d2a4c8a) II (b, c, d, a, M9, 21, 0xeb86d391)
AR TR ATE ST 12/47 L&



==
JTEX

BERM;

MRS URLAIESS (7268, =B ) BOMSE 14 e

[EEH]
FRERIEZTAEERTRAEN140 | EERFUIREEETAERERIENE |, S AEREFR. LR EefmmREas—r-URLET,
BB ERER—TinyURLES M. Bl @
(ERTiEEM EE | BrliEE 7 asEdaihttpy//EL)
g1 1 Zzhidao.baidu.com/search?ct=17&pn=0&tn=ikaslist&rn=10&word=helloworld &ie=utf-B&fr=wwwt
RS« /fasdfa.cn/ak78ss

gimasdfa.cnEdTRHSzhidac baidu.com , EEEERN=FSiEESEak 7 8ss,

[imsm]
MELHFFZT TinyURLAIZEER , LIFEEE S4BT
(1) : e EERmEN=CE?
(2) : FWFESmehiTr—URL , Ba=HEErEaTinyUrl?
(3) : EI0ZAur , — RS LEA T , SESaRSE , FLiRit=Hl
(4) : itfrsmEeaE— RS | BARINIERE 247

[#Rt]
HitaIER(RIENEZNEECS) , P
(1) : ARERE , —E0ETRIEEEERE , FENEEd , i aEmEEsfsn-207 , SaEiir , ARRES— T T  5—FE8
EETRMUHAEASEHETERE , 6BNE (26+26+10) ~& FAS , MZEAT , SEAMTEH—RaE N
(2) : EiEkey-valuetEigEial
(3) : TRna%E | RiSak78ssixFIEMESTEIAFENEEL | hashsid=B8=EAFE
(4) : =REE 7 WA ? FEEEBRuriERESFE=E ?



/ \‘H | Xf \
H ;x
R \, |/

Megative Skew Positive Skew

B EENEEME LT AOLAHAKR, £

tazt FHARABRBEEGOE T

B GEGAEATRAE, TRAR KK X Z Lo

B GEAR(AA)E(EA)ATABESBEIE A
nll & ml 69 B3 n K, KEAL AN LM

B GEARAKTHEMA NG FAFHAG
A, faR—2&EhA— 2 A2

91—

A

S i
Hir

BB AL SIS 14/47 m ina



(ZIER/NW

EHNFRETH N ERETALORFT HLE,
B 5 A Aot ASkew[X] k£ 4 Fo

Cx=u V] Elx-af]
71 E|:( o j} (E[(X—,U)ZDS/Z Kglz

7= E{(ﬂﬂ_ E[XB]—BuEs[X2]+ 207 E[X*]-3u0® - i

O O O
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'”4‘/"? A B B A A E A AR 6 AR,
&ii@%?@ﬁ%uﬂ%ﬁ%ﬂa&

— X—X
y :K4:/u4 —3= Z -3
2 K22 04 10 N 2
(nzl(xi_x)j

E4 b3k 4 # A8 1A 4 & (excess Kurtosis).
B W37 24 TiLEA 58 €54 A0
B BAEE AL, %A K%K (leptokurtic)
B BiEE AR, # A% S (platykurtic)

ERERETR AR E TS 16/47 mlJl§E+|3n

nnnnnnnnnnnn



0.6

= —0.02, s=1.01, shew=—0.01, kurt —=2.98

0.5 b oo =051, 020,70, skew =076, hurt=3.19. ...

%1t 2ZCode

03F

if __name__ == "__main__": ‘ : ‘
data = list(np.random.randn(16060)) 02 b
data2 = list(2*np.random.randn(1leeee)) : :
data3 = [x for x in data if x > -8.5] P S R
data4 = list(np.random.uniform(©, 4, 1eeee0))

[niu, sigma, skew, kurt] = calc_stat(data) ool
[niu2, sigma2, skew2, kurt2] = calc_stat(data2)
[niu3, sigma3, skew3, kurt3] calc_stat(data3)
[niu4, sigmad, skewd, kurt4d] calc_stat(datad)
print niu, sigma, skew, kurt

print niu2, sigma2, skew2, kurt2

print niu3, sigma3, skew3, kurt3

print niud4, sigma4, skewd4, kurtd

info = r'$\mu=%.2f,\ \sigma=%.2f,\ skew=%.2f,\ kurt=%.2f$' % (niu, sigma, skew, kurt)
info2 = r'$\mu=%.2f,\ \sigma=%.2f,\ skew=%.2f,\ kurt=%.2f$' % (niu2, sigma2, skew2, kurt2)
plt.text(1l, ©.38, info, bbox=dict(facecolor='red', alpha=e.25))

plt.text(1l, ©.35, info2, bbox=dict(facecolor="green', alpha=e.25))

plt.hist(data, 5@, normed=True, facecolor='r', alpha=8.9)

plt.hist(data2, 88, normed=True, facecolor='g', alpha=0.8)

plt.grid(True)

plt.show()
B SR T S S 17/47 &%=



0.45
0400 R

u:O.QO, o=1.00, gkew:f().OO,f kurt =2.96
0.35 L= —0.01, 7=2.02; shew=0.00, kurt =2.97

1 0.0029 1.0001 -0.0040 2.9643
1 -0.0137 2.0208 0.0046 2.9748
1 0.5134 0.6962 0.7825 3.3052

1 2.0016 1.1548 -0.0107 1.8012

0.6

11=0.00, o =1.00, skew =—0.00, kurt = 2.96
1—0.51, 0=0.70, skew —0.78, kurt —3.31

O30

020

-4 -2 0 2 4

0.40p oo e Al =0.00, =100, skew =—0.00, kurt =2.96
: : 1=2.00, o =1.15, skew =—0.01, kurt =1.80

-4 -2 0

BB AL SIS
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a7, HANE: 100000
0.45 | ! !
it =
RIT=
def calc_statistics(x):
n = x.shape[e] # A%
# FapitE
m=8
m2 =9
m3 = @
ma = @
for t in x:
m+= t
m2 += t*t
m3 4= t®*3
ma += t**4
m/=n
m2 /= n
m3 /=n
m4d /= n
mu = m

sigma = np.sqrt(m2 - mu*mu)

skew = (m3 - 3*mu*m2 + 2*mu**3) / sigma®*3

kurtosis = (md - 4*mu*m3 + 6*mu*mu*m2 - 4*mu**3*mu + mu**4) / sigma®*4 - 3
print 'FEHEYE. REZ. BE. &EF: °, mu, sigma, skew, kurtosis

# EEEZHBIEU

mu = np.mean(x, axis=8)

sigma = np.std(x, axis=e)

skew = stats.skew(x)

kurtosis = stats.kurtosis(x)

return mu, sigma, skew, kurtosis

FIHEHE. FEE. RE. IBE: -0.00232018730484 1.00220229337 0. 0070687774347 0. 0174102810253
REETESE. IEE. BE. §EF: -0.00232018730484 1. 00220229337 0. 0070687774347 0. 0174102810253




“eiam, AR 100000

e

d = np.random.randn(leeeea, 2)
mu, sigma, skew, kurtosis = calc statistics(d)

print ‘BRI EHME. RS, BE. G, m,

St BET
=Y

N = 38

density, edges = np.histogramdd(d, bins=[N, N])
print "HAZ#: ', np.sum(density)

density /= density.max()

X =y = np.arange(N)

t = np.meshgrid(x, y)

fig = plt.figure(facecolor="w")

ax = fig.add subplot(111, projection="3d")
ax.scatter(t[e], t[1], density, c="r', s=15*density, marker='o', depthshade=True)

ax.plot surface(t[@], t[1], density, cmap=cm.Accent, rstride=2, cstride=2, alpha=0.9, lw=8.75)
ax.set xlabel(u'x")

ax.set ylabel(u'y")

ax.set zlabel(u'z")

plt.title(u' = uE# o4, BAEANFH: %d' % d.shape[e], fontsize=20)

plt.tight layout(@.1)

plt.show()

HEERET R AR E TS 21/47 VL& 5 PR
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F(x)= (x-1) T(x-1)= &) _y 4

| PR r(x—1)

IEF X F LS S F e
M(x)= [ t~edt =(x—1)!

[/ FGamma R £ . | 3k %I]G‘climma R 2 |
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ﬂﬁlﬁ F1Gamma ET_'llﬁ

L S S

import numpy as np B0 |-
import matplotlib as mpl :
import matplotlib.pyplot as plt ; ; ; ; ; ;
from scipy.special import factorial

mpl.rcParams[ 'axes.unicode_minus'] = False
mpl.rcParams|[ 'font.sans-serif’'] = 'SimHei’

20

oyu_m__?m””_m?“__m”
]

if name == "_main__":
N =25

X = np.linspace(@, N, 50)

y = gamma(x+1)
plt.figure(facecolor="w")

plt.plot(x, Ys r-t, X, Ys ‘m¥’, 1W=2)
z = np.arange(@, N+1)

f = factorial(z, exact=True) # F7E
print f

plt.plot(z, f, 'go', markersize=8)
plt.grid(b=True)

plt.xlim(-0.1,N+0.1)

plt.ylim(@.5, np.max(y)*1.05)
plt.xlabel(u'X", fontsize=15)
plt.ylabel(u'Gamma(X) - Fi3E&", fontsize=15) ; oL B
plt.title(u'FrIEAflGammaF# ", fontsize=16) 4/47 m]élhllr%ag;fﬁ
plt.show()




Pearsonfgx %2

__ Cov(X,Y)
ﬁ%w VN&“T)()VarCY)
GitF £ LR 2L T4, |A<1
B 508 5X5YRERE4LH, FTAL
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r

e®e
[ 1 X ]
e®e
o%e
o®e

PearsontB X RB SHIENTH: —REHXF

HEFEH: nan
HHXEH: 1. 000
1HXEH: 1.000
HEZEH: 1.000 |
HEZEH: 1.000

HXEH: 0.078

LA X}
ete
LLX ]
e0e
e%e
e®e

. Pearson*ﬁ?é%’iﬁ—%ﬁf&ﬁ*ﬁ: :}'{’\mﬁ*%

HEEFEE: 0.000 :
HXZEH: 0 380
BXxEH: 0 553

m%%ﬁ:aﬁa_;__m””minnmmmjmmm“m_¢_mm”mm

HEXZEH: 0 380

HEFEFRE: 0.000

Pelar sonﬁ%:ﬁﬁ—%fﬁ?ﬁﬁ#ﬁ : .I-.Ef)].%:zf-’e

e
e®p
ety
e0e
e%e

HHXEREE: 0.894
HERH: -0.224
X R -0. 921
HEXRH: -0 964
HXEH: -0 961

LEEF ¢ o

Pwmmmiﬁﬁ%ﬁﬁﬁﬁ:%@

ey
(L X ]
o0
[e1=¥o]
e®e

HHxEH: 0.070
HXEH: 0.843
HXEREH: 0.927
HEXFRH: 0925
HEXEH: 0.824

X Z -0 070 | 0.




def calc pearson(x, y):

stdl = np.std(x)

# np.sqrit(np.mean(x**2) - np.mean(x)**2)
std2 = np.std(y)

Code

def

cov

= np.cov(x, y, bias=True)[©,1]

return cov / (stdl * std2)

pearson(x, y, tip):
clrs = list('rgbmyc’)

plt.
for

plt.
plt.
.ylabel(u'y")

plt
plt

plt.
plt.

figure(figsize=(10, 8), facecolor="w")

1, theta in enumerate(np.linspace(@, 9@, 6)):

xr, yr = rotate(x, y, theta)

p = stats.pearsonr(xr, yr)[e]

# print calc pearson(xr, yr)

print 'FEEMAE: ', theta, 'PearsontHXREE: ', p

str = u'MFXEH;: %.3F" %L p

plt.scatter(xr, yr, s=48, alpha=0.9, linewidths=0.5, c=clr
legend(loc="upper left’, shadow=True)

xlabel(u'X")

title(u'Pearsonfl X EFEH I\ 4. %s' % tip, fontsize=18)
grid(b=True)
show()
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F’I||J

def restore(sigma, u, v, K): # 55E. ZHFiAE. GHiA=
print K
m = len(u)
n = len(v[e])
a = np.zeros((m, n))
for k in range(K+1):

*E.{E/\ﬁﬂ *jIEEI s -
_/\ for i in r?ngf.a(m). . . .
R 1B 7] W= XX 2R L bl B et *

Image.fromarray(b).save("svd_" + str(K) + ".png")

e T 33/47 &%=



SVD

svd_0.png

svd_l.png

svd_2.png

svd_3.png

svd_4.png

svd_S.png

svd_6.png

svd_7.png

svd_8.png

svd_9.png

svd_10.png

svd_11.png

svd_12.png

svd_13.png

svd_14.png

svd_15.png

svd_16.png

svd_17.png

svd_18.png

svd_19.png

svd_20.png

svd_21.png

svd_22.png

svd_23.png

svd_24.png

svd_25.png

svd_26.png

svd_27.png

svd_28.png

svd_29.png

svd_30.png

svd_31.png

svd_32.png

svd_33.png

svd_34.png

svd_35.png

svd_36.png

svd_37.png

svd_38.png

svd_39.png

svd_40.png

svd_41.png

svd_43.png

svd_45.png

svd_46.png

svd_49.png




BEEHNSADTIE

—eo ﬁ?“lli'ﬁ‘fn

| — menaE |
| — mmmawns

I I I I
20 40 60 80

100

BB AL SIS

3t

N g 2N B AEALTE

ESLEK%‘I

Y é l”’ h-ﬂ-ﬂ-“

1 | 1 |
0 10 20 30 40

1
50

nﬂFFi’J*)*zMAEG‘IEﬁ

| ﬁﬁbqiﬁ‘fn
| —  IEEEEITEHE

\ | —  EMBETHEMET |

9.5

o\ NN i i {

7.5
0

I i I I
20 40 60 80

100



II)Q'

laplacian.png

-
f:‘ _<>’- g ‘/, Y >
S - ‘r.
5 b
< L
5 \
— \
>
o~

N

RHYER

) AN N
AAAAAAAA RS Ry

laplacian2.png

prewitt_y.png

soble_x.png

soble_y.png



O
7\

R EE

%

> e U«l.n. |
ll' .o — M e
'\..a /. 3
”v . o \&\ P A
» - S a . Y 0 N T
\ad}J\YJ b X. r' T I¢. / .‘
— l\\.\\. S — k] | .d. 2 ..\ )"/ /
. o > — 13 ' » 2
= \“\ N "> W ! \.. /d»“ X
— o »
E - \‘\uq > N o , \.-a.. A f\ i’
g — y .\ vV N &4
o = Y 2 2
- - * V.« ot
| DT | R — N— P ———
B ARE » o S e
.ﬂj .'.HI‘ \
;.-rfh .. . ."‘o' 1)
’ r.l 4 ....{ ll' - N
. - a & (9} - - v v o
Mt NN, | £ — AngaSa T
B NN RS e
v 'Y= = ~ = v s —y s
_ s [ 2 S =
E (e 5 = — AN
o of"b ANAN Ny Q - — lq s -
P N\ T = \TF N RS
T / — /.ﬁ [ \ — /W 4
'/ -~ - | -
$ /ﬁv 4 - .a’H..-
= . -.'Mu 8 el T ﬁ B .
. Ny :
S A=
. \
.N / “ [e)) ﬂ '
, 5 ' (- \ N
=27 = a /4 e N Ser
i a RN G B B ,.m e U | AR
= 5 s DR N )
o 4 \ © — SNt 3 N
—\ \ & o o \
— WL NS o - 3
“ ‘/\ oy Sy - v (/ Sk
A= L \ L
A v - S
W ARE TR D
\A’ & v
v .
,w,. .
o ? Ny! .
m. ..\x . A
: \ W\
® v onge L, |
G d-ﬂ 1Y ) 4
o ! \ .: / \
R < 'y \
s s \h y \ ..

soble_y.png

soble.png soble_x.png

prewitt_y.png




Code

def convolve(image, weight):
height, width = image.shape
h, w = weight.shape
height new = height - h + 1
width new = width - w + 1
image new = np.zeros((height new, width new), dtype=np.float)
for 1 in range(height new):
for j in range(width new):
image new[i,]j] = np.sum(image[i:1i+h, J:j+w] * weight)
image new = image new.clip(@, 255)
image new = np.rint(image new).astype( uints")
return image new
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ConvNet Configuration

A A-LRN B C D E
11 weight | 11 weight | 13 weight | 16 weight 16 weight | 19 weight
layers layers layers layers layers layers
input (224 x 224 RGB image)
V N et conv3-64 conv3-64 conv3-64 conv3-64 conv3-64 conv3-64
LRN conv3-64 conv3-64 conv3-64 conv3-64
maxpool
conv3-128 | conv3-128 | conv3-128 | conv3-128 | conv3-128 | conv3-128
conv3-128 | conv3-128 | conv3-128 | conv3-128
maxpool
conv3-256 | conv3-256 | conv3-256 | conv3-256 | conv3-256 | conv3-256
conv3-256 | conv3-256 | conv3-256 | conv3-256 | conv3-256 | conv3-256
conv1l-256 | conv3-256 | conv3-256
conv3-256
maxpool
conv3-512 | conv3-512 | conv3-512 | conv3-512 | conv3-512 | conv3-512
conv3-512 | conv3-512 | conv3-512 | conv3-512 | conv3-512 | conv3-512
convl-512 | conv3-512 | conv3-512
conv3-512
maxpool
conv3-512 | conv3-512 | conv3-512 | conv3-512 | conv3-512 | conv3-512
conv3-512 | conv3-512 | conv3-512 | conv3-512 | conv3-512 | conv3-512
convl-512 | conv3-512 | conv3-512
conv3-512
maxpool
FC-4096
FC-4096
FC-1000
soft-max
Table 2: Number of parameters (in millions).
Network AL A-LRN B L D E
Number of parameters 133 133 | 134 | 138 | 144
BRSNS 42/47 &%=
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Code

B EXMFET AT

58
t =
5 =

plt.
plt.
plt.

plt

5 =

plt.
plt.
plt.

plt.
plt.
plt.

ax
5@
sl
5@
52

s

ax.

= (0., 1., 0.)

np.arange(e, 3@, ©0.01)

odeint(lorenz, s@, t)
figure(figsize=(12, 8), facecolor="w")
subplot(121, projection="3d")
plOt(S[:, e]: 5[:1 1]: S[:J 2]: C=Igl)
ditle(u' B FEHELER, fontsize=16)

lorenz_trajectory(se, 40eee)
subplot(122, projection="3d")
plot(s[:, @], s[:, 1], s[:, 2], c="r")
title(u IFEBEEME R, fontsize=16)

tight layout(1, rect=(e,0,1,0.98))
suptitle(u'Lorenz®%: ', fontsize=20)
show( )

Axes3D(plt.figure(figsize=(8, B8)))
(6., 1., 0.)
lorenz_trajectory(se, 58000)

(6., 1.0001, 0.)
lorenz_trajectory(se, 50000)

iy 28
# 0=

plot(si[:, @], s1[:, 1], s1[:, 2], c="g', lw=0.4)

ax.plot(s2[:, @], s2[:, 1], s2[:, 2], c="r", lw=0.4)

#H i L
it AR

dax.

scatter(si[e, @], sl[e, 1], sl[e, 2], c="g"', s=58, alpha=8.5)

ax.scatter(s2[e, o], s2[@, 1], s2[@®, 2], c='r", s=58, alpha=8.5)
# oo

ax.scatter(s1[-1, @], s1[-1, 1], s1[-1, 2], c="g', s5=100)
ax.scatter(s2[-1, ©], s2[-1, 1], s2[-1, 2], c="r", s5=100)

ax.set title(u'Lorenz T 5#iE%H ", fontsize=20)

ax.set xlabel(u'x")

ax.set ylabel(u'y")

ax.

plt.show()

set zlabel(u'z") m”lﬁiﬁ.—pﬁ
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